E=Jr=2B a3

L435M

AN 1A BB T PR . 2 R = Tk

T651—-2404 mEmEXAEFET1534
TEL:078-967-1481
FAX:078-967-3090

IABRRGILBRBTEOMERRZERTY .

2ABRK(E2014F4 A 1B KYBRAVLET (KGR EALERICHROMRRERLLET )
SARREX SRR R ER T BT BBRARICEBSIN TV IRBRUGAITTIEXTEL,

4 RICEHEN-BIEOBIEGH R, FRUN DB, WBREIT UL E TV EEEL,

BREERDRH

— SRERRY, BEROBRTERTORBUOLERA,

¥ BHRTOHRBLLER A,

| IRERIEATET, ZOHRADKDYICHATIHENHYET .
Ty Ty IR

swW INREE

w FRESE

AJ TOvRE

sp =R GIWAE S

PK =R GIWAE S

ALk RARILE

S REGKISOVTIHIESBRRESBL TSN, L, BRSOV TIESBLEhE<TEL,

FiERIRRO-OFETRERUHEELNEDIERBYET,




EEHEGIEER) L435M




TEHEGIES M) L435M

®E B e E| @ RIS e BRA E%%| @
1 | 1131-81100 | |A—Y7L—LASSYGKEN{T) 1 5 | 1343-82101| |&&# 1
1-1 | 1131-81110 | % | A—> TL—LAKIK 1
1-2 | 1131-81120 | % | Y5y FRS L 1
1-3 | 1131-81130 | % | v TRRT YL 22—22A 1
1-4 | 0212-02210 | % |R-22 RFvFYL Y 1 6 | 1425-51002 | |#&¥I9V9ASSY (KEN{T) 1
1-5 | 1131-81150 | % |8mm L 1 6-1 | 1425-51011 | 3 |#k#44> 2 1
1-6 | 1131-81140 | % |/hF—1)— 1 6-2 | 1226-51103 | % | 3w FASSY (OFIfT) 1
1-7 | 0171-00812 | % |M8 F7yvx (/) 1 6-3 | 1226-51200 | O |FRILE T 1
1-8 | 0161-00865 | % M8 Fwk & 1 6-4 | 1221-51140 | O | F+vFPK 1
1-9 | 0122-10630 | |M6X30+F I ftAA ILISW 4 6-5 | 1226-51170 | O | I LA 1

6-6 | 1234-51170 | O | Rbw/< 1
2 | 1131-81200 | |4 yhASSY (KEN{T) 1
2-1 | 1131-81210 | % | U4 yhAfk 1
2-2 | 1131-81221 | |22 —22Bf/ A FHRHRF7Y 5 1
2-3 | 0212-02210 | % |R-22 RF v T2 1 7-1 [ 1127-82201 | (& B TIURE Wb F VM) 1
2-4 | 1131-81150 | % |8mm L 1 7-2 | 0111-00615 | |M6x 152411 (&) 4
2-5 | 1131-81230 | % | KF—!— 1 7-3 | 0162-40660 | |M677v%'Fyh(B) 4
2-6 | 0171-00812 | % |M8 FTvy+v (/v) 1 7-4 | 1325-82310 | |wwh@z&£E 1
2-7 | 1131-81260 | % |M8 ZEF vk 1 7-5 | 1343-82330 | |54k 1
2-8 | 1182-81240 | |o¥T7rRZIERA(K) 1 7-6 | 0114-00516 | |M5X16M57AA4Y1 3
2-9 | 1131-81250 | ||t yb/ix 1 7-7 | 0162-00555 | |M5 5> IftF vk 3
2-10| 0122-00620 | M6 X 20+ 71T AR bt 2 7-8 | 1425-51161 | | FL—hGEEIR) 1
2-11| 0162-00660 | |M6 75> fFF vk 2

8 | 1448-82402 | |EANUNASSY(ETAY) XAt 1
3-1|1131-81350 | |[VARLk M—22 1 1445-82440 | % |\ R (EHEEYH) 1
3-2 | 1333-81310 | | RJLhA/N—
3-3 | 0122-30612 | |M6x 12+FR{FAAH IISW, W 2

3112-92331 | |AJLMwH 255 x 40PFE A(OEM) 1

4-1|1333-81412 | |V49bRT 1 3121-99110 | | BAXNILHEIKGBEE 1
4-2 | 0122-30612 | |M6 X 12+F TR AK ILISW, W 2 3123-93451 | |T—F L (AHREALT) 1
4-3 | 1333-81430 | |E#R 1 1131-94110 | |y \RIBESRIL 1
4-4 1 0122-00512 | |M5x12+FREAARARLE 2
4-5 | 0122-00612 | |M6X12+FIRAFAAR I 1 3000-81230 | |KT—1)—($%) 1
4-6 | 1127-81510 | | L&RSP (d24) 1 3000-81140 | [/NT—1—(8) 1
4-7|1127-81520 | |SP 7RIS 1
4-8 | 1145-81480 | | LIRHK ILFASSY CKENfH) 1 3000-81700 | |#k&T—U—(K /Mt 1
4-9 | 0122-00840 | 3 [M8X40 + T A AN Wb 1
4-10| 1226-81460 | % |8-28 W 1
4-11| 1224-81530 | % |8-10-30 h5— 1
4-12| 1425-81471 | % |10-30 I LYy 3> 1
4-13| 1127-81490 | | TEBSP (& 26) 1
4-14| 1131-81460 | |10-26 W 1
4-15| 1145-00406 | |M4x6 BYEL Y1) 1




EHBHE L435M




TR L435M

S mE EiTLE E%| (@ X% mE i B (@
1-1 [ 1343-11110 | |2 ULA (EATIN) 1 3-1]1335-31100 | |95vFASSY CXENfT) 1
1-2 | 1343-11120 | | UL APK 1 3-2 | 1333-31110 | % |U5vFa 2
1-3 | 0126-00520 | |M5X20 AFITARILL 4 3-3 | 1335-31141 | % |U5vFSP 1
1-4 | 1343-00650 | |M6X50 REYRARLE 2 3-4 | 1333-31130 | |5wFHRILk 2
1-5 | 1343-11140 | |f>>al—4% 1 3-5 | 1333-31150 | |959F W 10m/m 2
1-6 | 1345-11130 | |f>>alL—4PK 1 3-6 | 1331-31120 | |959FW  8m/m 2
1-7 [ 0111-20525 | |M5x 25 2411 SW, W 2
1-8 | 1343-11150 | |F¥TL4HPK A 1
1-9 | 1343-12110 | |57y CKENT) 1 4-1| 1343-32211 | |B—3(HIEERYIN) 1
1-10 | 1343-12120 | % | <75 (it ) 1 4-2 | 1323-32310| |M8a=AJLSP Fwh 2
1-11] 1343-12140 | 3¢ | F—JLsS(TF 1 4-3 | 1343-32141 | |47 =viaraq )L (Edn) 1
1-12| 1345-12170 | 3¢ | F—JLsS1 FPK 1 4-4 | 1333-34120 | % | T35 FvvT #H 1
1-13| 1344-12180 | 3 |M4X8 R41)2 SW, W 2 4-5 | 1423-34140 | |F'Oxvbk 1
1-14| 1343-12130 | |<75PK 1 4-6 | 1343-20520 | |M5X20 RJLk SW, W 2
1-15| 1345-00640 | |75>S+vh6d 2 4-7 | 1333-35120 | |U—K7A¥ 1
1-16 | 1334-30516 | |M5x 16 R%1)21 SW, W 1 4-8 | 1331-34110| |m:XTS5%5 BMBA 1
1-17| 1343-12150 | |R75H/— 1
1-18| 0111-30512 | |M5x 12 RZY= SW, W 2 5 | 1344-41001 | |J3{LASSY (KENfT) 1
1-19] 1343-12220 | | F—IL/SATLU#EEIN) 1 5-1 | 1334-41111 | % | RE—5/7—2R 1
1-20| 1343-13120 | |FSUH—F (fit#atln) 1 5-2 | 1334-41120 | % | R/S45JLSP 1
1-21| 1343-13110 | |5 hA—(fH#a8IN0) 1 5-3 | 1344-41170 | % |[U—LT v 1
1-22| 1334-30520 | |M5x20 RZY= SW, W 1 5-4 | 1334-41140 | % |)—)LFL—F 1
1-23| 1334-30516 | |M5x 16 R SW, W 1 5-5 | 1334-41190 | % |2vEL 5 2412 3
1-24| 1343-14130 | |EXbotyh(OR{) 1 5-6 | 1334-41180 x| 7F—1 1
1-25| 1342-14140 | O |ERFUEY 1 5-7 | 1334-41261 | % |92 1
1-26 | 1343-14110 | |EXbY2Y (2F48) 1 5-8 | 1333-41210 | % | R4—40—7 1
1-27| 1342-14150 | |ERFUELRFYTYLY 2 5-9 | 1331-41220 | % |R4—%/7 1
1-28| 1341-14160 | |ERFUEIRTYLY 1 5-10| 1333-42110 | |F—1)—ASSY(OHI) 1
5-11| 1333-41160 | O |SFzwh 1
2-1 | 1343-21110 | |95>945—R FU#EIN) 1 5-12| 1333-41150 | O |JZ—>SP 1
2-2 | 1343-21120 | |95>94—R R({E#REIN) 1 5-13| 1333-41280 | O |RFyFUL 5 (E YL 45) 1
2-3 | 1423-21180 | |#9TILEY (97090-R) 2 5-14| 1333-41270 | |JL—+ 1
2-4 | 1344-10525 | |M5X25 R%4')2 SW(H#AETIN) 4 5-15| 1333-41290 | |TUUUR—R (Y1) 1
2-5 | 1333-24170 | | AL —)IL12-22-7 1 5-16| 1333-30520 | |M5X20 R%')x SW, W 4
2-6 | 1343-24180 | |AAILS—)L 1 5-17| 1343-36120 | |3—K45>F 1
2-7 | 1342-06202 | |6202~°FYuY" 2 5-18| 1344-94100 | [JaA LS~ 1
2-8 | 1343-21190 | |J\—(ft#A4Ih) 1 5-19| 1443-42220 | |JaALEESRIL 1
2-9 | 1343-22111| |95292 %Ik 1
2-10| 1331-22140 | |¥AF¥— 1 6-1 | 1333-51340 | |Z7a—IJL7R—R(5P X 800) 1
2-11| 1343-23120 | | 7724 —R(##AEIN) 1 6-2 | 1333-51360 | |7a—T/LFa—7T (50 x540) 1
2-12| 1423-21170 | |#HTIED (F705-2) 2 6-3 | 1333-51350 | | 754 (F'Aiyk) 1
2-13| 1343-20525 | |M5X25 /R)Lk SWW 4 6-4 | 1326-51440 | |Tvia 1
2-14| 1343-36120 | |a—K45>F 1 6-5 | 1434-51450 | |78 7 (3kl+1E&h) 1
6-6 | 4145-51400 | |[BA¥ID4IL% 1
6-7 | 1333-51370 | |/S4FSP(L400) 1




EHE L435M




THE L435M

®E B e B @ ®E mE e L E= i
7 | 1343-53000 FrTLATYY (fETIh) 1
7-1 | 1433-53120 | % | 754wk 1
7-2 | 1435-53140 | % | 7Ov ARRY 2 1
7-3 | 1326-53130 | % |AJ Fvb 1
7-4 | 1425-00310 | % |3x 10R49Yx TS54 vk 2
7-5 | 1343-53211 | % | ROvkIL/ LT (A EIH) 1
7-6 | 1326-53190 | % | T A ¥HRILA (RAXL) 1
7-7 | 1433-53230 | % |Tviv 1
7-8 | 1326-53220 | % |9y T 1
7-9 | 1343-53460 | % |/\f RE—F=—F)L 1
7-10| 1421-53470 | 3% | RS NARE—K 1
7-11| 1421-53480 | % |[Tviv =——K)L 1
7-12| 1421-53490 | % |05 ——FK)L 1
7-13| 1326-53270 | % |[{Ro T HA VYT L 1
7-14| 1326-53260 | % |;R> TPK 1
7-15| 1423-53320 | % | K V7K TAASSY (OFNfH) 1
7-16| 1326-53310 | O | RY)—2iRo T 1
7-17| 1326-53410 | O |=—K)L/\ LT 1
7-18| 1423-53420 | O |E> TSP 1
7-19| 1326-53430 | O |L/A\—EV Y 1
7-20| 1326-53440 |0 |EY ELY 1
7-21| 1326-53450 | O | "Y1k SEY 1
7-22| 1326-53351 | % |F AV IS5 LR T« 1
7-23| 1326-53340 | % | A A XY TS LrA—> 1
7-24| 1326-53331 | % [ A—2F (¥ TS LPK 1
7-25| 1326-53360 | % | FS5/<HR T 1
7-26 | 1326-53371 | % | h/\—TFS54A4<RoT 1
7-27| 1425-00324 | % |M3X24 X4')2 4
7-28| 1326-53390 | % |/Sw¥> (FHF) 1
8-1 | 1343-54140 D) —Fr—R (HEETIN) 1
8-2 | 1343-54150 | (IS4 vh(faTIh) 1
8-3 | 0111-20550 | |M5X50 4" SW, W 2
8-4 | 1343-54130 | |TLAVk 1
8-5 | 1343-54180 | |/RLA 1
8-6 | 1343-54110 1) —FHhn— (o) 1
8-7| 0111-30516 | |M5x 16 Z&'J2 SW, W 1
8-8 | 1326-54160 | |Fvb (4% 1
8-9 | 1423-54170 | |R—LSR)L Fa—% 1
9-1 | 1322-91310 | |RHYaRSA /83— 1
9-2 | 1442-91340 | |/RyHRR/8F 13%x19 1
9-3 | 3347-91140 | |ERAR/%F 8-10 1




